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Nwms: Jara: Onenka:

45x% — 62x— 16 153 + 18x% + 21x
5x— 8§ 3x

03 + 62 — x 35x0° — 632 — 14x
X Tx

16x° — 4222 — 16x— 6 40x3 — 56x2 — 48x
2x—6 8x

18x° — 6222 — 76x — 20 7253 + 48x% — 24x
9%+ 5 8x

10x2 — 49x + 49 83 + 362 + 20x

2x—17 4x
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Nwms: Jara: Onenka:
45x% — 62x— 16 15x° + 182 + 21x
5x— 8§ 3x
Ox+ 2 5)c2 + 6x+ 7
O + 6% — x 35x° — 632 — l4x
X Tx
% + 6x— 1 5¢ —9x—2
1633 — 42,2 — 16x— 6 40x° — 56x° — 48x
2x—6 8x
82+ 3x+ 1 5¢—Tx—6
18%3 — 622 — 76x — 20 72 + 48x% — 24x
9%+ 5 &x
272 — 8x—4 9% + 6x— 3
10x2 — 49x + 49 8> + 36x° + 20x
2x—17 4x
5x—7 2% + 9+ 5
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